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Grammar

1. - 40. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük veya ifadeyi 
bulunuz.

1.	 In January 2013, a group of scientists achieved 
a breakthrough when they cut out a particular 
piece of DNA in human cells and replaced ---- 
with ---- one.
A)	their / the other

B)	it / another

C)	its / the others

D)	them / other

E)	theirs / others

5.	 Even if you work ----, your own, you can 
contemplate outsourcing some of your work so 
that you do not need to do everything ----.
A)	on your own / by yourself

B)	each other / yourself

C)	yourself / itself

D)	one another / by itself

E)	itself / by yourself

2.	 Although wind is a renewable resource, 
---- speed and direction change frequently, 
depending on ---- conditions of the atmosphere, 
such as temperature, humidity, and season.
A)	their / one another

B)	them / others

C)	it / the others

D)	its / other

E)	theirs / the other

6.	 Overall, species richness ---- over the last 
century in Finland, yet some regions ---- to 
possess relatively species-rich communities.
A)	has been decreasing / continue

B)	is decreasing / were continuing

C)	was decreasing / will continue

D)	had decreased / had continued

E)	decreases / continued

3.	 According to a study published in a computer 
magazine, strangers smile less to ---- when they 
have their smartphones with ----.
A)	one another / them

B)	the other / by themselves

C)	other / themselves

D)	each other / theirs

E)	others / their

7.	 The company hopes that it ---- the success 
it has achieved so far by continuing the 
development programs it ---- for a long time.
A)	has overshadowed / is implementing

B)	will overshadow / has been implementing

C)	overshadows / had implemented

D)	had overshadowed  / has implemented

E)	would overshadow / was implementing

4.	 Three of the seven elves laid down heavy 
suppressive fire on the gnomes while ---- 
manoeuvred around to the right flank, finishing 
off ---- left alive.
A)	other / everything

B)	others / somewhere

C)	the others / anything

D)	the other / everybody

E)	another / no one

8.	 For more than two decades, humans ---- and 
worked continuously aboard the International 
Space Station, advancing scientific knowledge 
and making research breakthroughs that ---- 
possible on Earth.
A)	are living / will not be

B)	were living / will not have been

C)	have lived / are not

D)	had lived / have not been

E)	would live / were not
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Sentence Completion

1. - 16. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz.

1.	 Since it was coined in the late 2020s, ----.
A)	technology was gradually integrated into 

education

B)	social media became a problem among the 
youth

C)	migration would not be acceptable for some 
unique places

D)	the term “AI” has revolutionized the way we live

E)	effective communication is crucial for good 
relationships

4.	 To examine how climate change impacts lakes, 
----.
A)	people in the region started to worry about it

B)	scientists have previously concentrated on 
marine life there

C)	there has been an ongoing project to observe 
the animals

D)	locals were warned to be careful about 
preserving the natural habitat

E)	samples had been taken from the region for 
further investigation

2.	 Despite being smaller than many of its Balkan 
neighbours, ----.
A)	the country has suffered from economic crises 

for many years

B)	Serbia couldn’t attract investors to boost local 
economy

C)	Montenegro has quietly cultivated a good 
reputation for travellers

D)	Montenegro had to take out loans from EU for 
decades

E)	its agricultural developments are taken seriously 
these days

5.	 Exposure to wildfire smoke can leave scars 
inside your body, ----.
A)	if you were very close to the fire or just inside it

B)	which might have triggered other symptoms in 
your body

C)	that’s why, people should have worn masks 
during the fire

D)	because their long-term effects would be more 
dangerous

E)	but the potential damage depends on age, 
distance from the fire

3.	 Today an estimated 57 million people globally 
have dementia ----.
A)	as effective treatments have been implemented 

recently

B)	thus, people could have prevented themselves 
against it

C)	when it was possible to protect yourself from it

D)	and cases are projected to rise to 153 million by 
2050

E)	yet people still don’t take them seriously

6.	 Ocean water covers more than 70 percent of the 
Earth, ----.
A)	and we have recently begun to understand how 

humans impact this watery habitat

B)	so marine life protection was supposed to be an 
important issue for scientists

C)	when loss of animal species is at its peak 
because of human activities

D)	then converting it into fresh water would never 
be possible in the near future

E)	even though people have never realized their 
importance for next generations
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RESTATEMENT

1. - 14. sorularda, verilen cümleye anlamca 
en yakın cümleyi bulunuz.

1.	 With the advancement of digital technology 
and the widespread use of social media, the 
capacity of individuals to connect and share 
information globally has expanded dramatically.
A)	Despite the increasing number of people using 

social media, communication and sharing 
information at a global scale has not improved a 
lot.

B)	Due to the expansion of communication among 
people via social media, the use of digital 
technology has increased at a global scale.

C)	By the help of social media and digital 
technology, people had long been able to 
communicate and share everything they do.

D)	With the rise of digital technology and the 
widespread adoption of social media, individuals 
are now able to connect and share information 
at a global scale.

E)	The use of social media and digital technology 
has increased dramatically, which in turn led 
to the development of communication among 
nations.

3.	 The company’s innovative strategies and 
strong market position helped it endure various 
economic downturns until, eventually, new 
regulations led to its decline.
A)	The company survived diverse economic 

downturns with the help of its modern strategies 
and solid market position, ultimately, it declined 
because of the new regulations.

B)	After new regulations declined the company, 
it had to come up with modern strategies and 
strengthen its market position to cope with 
economic downturns.

C)	The economic downturns caused to the 
company to find modern strategies and 
strengthen its market position but in the end, 
nothing could prevent the decline.

D)	In order to escape from decline, the company 
had to survive diverse economic downturns 
but without strategies and market position, it 
declined.

E)	The company had modern strategies and solid 
market position which helped survive economic 
downturns but before that, new regulations 
caused its decline once.

2.	 No sooner had Maria received her promotion 
at the company, in 2020, than the pandemic 
hit, leading to widespread remote work 
and significant changes in the business 
environment.
A)	Maria had barely celebrated her promotion at 

the company in 2020 before the pandemic hit, 
forcing a shift to remote work and altering the 
business significantly.

B)	When Maria got her promotion at the company 
in 2020, the pandemic had already hit and 
caused significant changes in her business 
environment.

C)	If the pandemic hadn’t hit when Maria got her 
promotion in 2020, she wouldn’t have been 
affected by such dramatic changes as remote 
work.

D)	After the company honoured Maria with a 
promotion, the pandemic hit and everyone 
including Maria had to work remotely.

E)	Maria had hardly received her promotion in 
the company before the pandemic hit, which 
changed her business environment dramatically.

4.	 A study of ancient pottery found in the Amazon 
Rainforest has shown that people living there 
5,000 years ago were using complex tools for 
crafting and cooking.
A)	After deep analysis of ancient pottery in the 

Amazon Rainforest, we now see that people 
used to cook with different tools compared to 
today.

B)	With the help of analysis of ancient pottery, it 
was understood the people living in the Amazon 
Rainforest had to use advanced tools for crafting 
and cooking.

C)	An analysis of ancient pottery discovered in 
the Amazon Rainforest has indicated that 
people living there 5,000 years ago were using 
advanced tools for crafting and cooking.

D)	If scientists hadn’t analysed the pottery in the 
Amazon Rainforest, we would never be able to 
see what those people used for cooking and 
crafting.

E)	Ancient people living in the Amazon Rainforest 
were using advanced materials for cooking and 
crafting, which led to a deep analysis of this 
period.
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1. - 14. sorularda, verilen durumda söylenmiş 
olabilecek sözü bulunuz.

1.	 You have been suffering from a back pain for 
some time. Your friend suggests a doctor he 
knows best, but you want to try alternative 
treatment methods for it. So, when you meet 
him, you thank and let him know this. You say:
A)	I am planning to find another way to get 

treatment. Thanks anyway.

B)	Since I am better these days, I have decided to 
wait a bit more before I see him.

C)	They say alternative medicine is quite popular 
these days. What do you think about it?

D)	I have been waiting for your suggestion. How 
can I make an appointment with him?

E)	I would like to thank you for your efforts, but I am 
planning to have alternative ways.

4.	 One of your friends has been quite busy lately 
and he asks for your help. You agree to share 
the workload but after a while you realize that 
your friend has assigned most of the work on 
you. You criticize him and inform that you will 
not help him anymore. You say:
A)	Your way of sharing duties is quite interesting. 

Why don’t we discuss it again?

B)	You didn’t tell me what I was going to do, and I 
am already tired.

C)	What you have done is not acceptable. I will not 
be here for you anymore.

D)	Honestly, is it normal for anyone to be busier 
than you about what you have to do?

E)	From now on, let’s make a fair distribution of the 
duties.

2.	 Your brother is going to take an exam 
tomorrow. He has been studying hard for it for 
a long time and now he seems stressful. When 
he asks your opinion about what to do, you 
want to boost his confidence and motivate him. 
You say:
A)	Hey, don’t worry. You have done more than 

enough so I am sure you will be successful.

B)	To be honest, you are a good one, but I think 
there will be better ones in the exam.

C)	Calm down. I hope you will do well in the exam. 
Is it really that important?

D)	I don’t think you will fail, and it is normal to feel a 
bit stressful before exams.

E)	Your performance has been quite good lately, 
but they say the exam will be difficult.

5.	 You want to buy a new mobile phone for your 
father. Since he is not good at technological 
devices, you think that an older version would 
be suitable for him. When you get to the 
shop, the owner always shows you the most 
complicated devices. You inform him and ask 
for suggestion. You say:
A)	My dad is keen on the newest trends in 

technology. What’s the best one for him?

B)	What you have shown so far is quite satisfactory. 
I’ll buy one of them.

C)	I want to buy a simple one because my dad will 
use it. Will you please advise one?

D)	A mobile phone even without internet connection 
is fine for me.

E)	Let me come here with my dad. He might help 
me choose the best one.

3.	 You are asked to work overtime for a week by 
your manager at work. Since your daughter is 
quite ill for some time, you don’t want to leave 
her alone at home. He seems insistent and you 
accept it but with a condition. You say:
A)	Why don’t you ask my colleague this week? This 

way, I can spend time with my daughter.

B)	It is not possible this week. I think you will 
understand it. I am terribly sorry.

C)	If you had informed me earlier about it, I would 
be able to arrange everything.

D)	I will accept it only if you accept to give me some 
free time in the evening to see her.

E)	That’s fine with me. I can ask for her 
grandparents to look after her this week.

6.	 Your sister has been following a strict diet. She 
only has lunch during the day. You see that she 
gets pale each day, which you think is risky and 
you want her to stop it, explaining the potential 
consequences. You say:
A)	I think you had better not go on your diet 

otherwise you will have other health problems.

B)	Having a diet is good if you don’t risk your 
health. Be careful next time.

C)	I never understand why you follow a diet. Your 
health is negatively affected.

D)	How about getting some professional help 
before you get ill?

E)	How long will it last? I missed the days we ate 
hamburger together.

Situational Response
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Translation

1. - 8. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz.

1.	 Social media platforms have implemented new 
privacy policies to enhance user security.
A)	Sosyal medya platformları kullanıcı güvenliğini 

artırmak amacıyla yeni gizlilik politikalarını 
uygulamaya koydu.

B)	Sosyal medya platformlarının yeni gizlilik 
politikalarını koyması kullanıcı güvenliğini artırdı.

C)	Kullanıcı güvenliğini artırmak isteyen sosyal 
medya platformları yeni gizlilik politikalarını 
uyguladı.

D)	Yeni gizlilik politikalarını uygulayan sosyal 
medya platformları kullanıcı güvenliğini 
korumayı amaçladı.

E)	Sosyal medya platformlarının yeni gizlilik 
politikalarını uygulama amacı kullanıcı 
güvenliğini sağlamaktı.

3.	 Farmers are testing innovative irrigation 
methods to increase crop yields due to climate 
change.
A)	İklim değişikliği nedeniyle, çiftçilerin, tarımsal 

verimliliği artırmak için, yenilikçi sulama 
sistemlerine geçmeleri istendi.

B)	Yenilikçi sulama sistemlerini kullanan çiftçilerin 
iklim değişikliğine rağmen tarımsal verimliliklerini 
artıracakları düşünülüyor.

C)	Çiftçiler, iklim değişikliğini dikkate alarak, 
tarımsal verimliliklerini artırmanın bir yolu olarak 
yenilikçi sulama sistemlerini deniyor.

D)	Çiftçiler, iklim değişikliği nedeniyle tarımsal 
verimliliklerini artırmak için yenilikçi sulama 
yöntemlerini deniyor.

E)	Tarımsal verimliliği artırmak için yeni sulama 
sistemleri deneyen çiftçiler iklim değişikliğinden 
etkilenmeyecek.

2.	 After years of tough preparation, NASA has 
launched a new exploration mission to search 
for signs of life on Mars.
A)	NASA, yıllar süren sıkı hazırlıktan sonra, Mars’ta 

yaşam izlerini araştırmak üzere yeni bir keşif 
misyonunu başlattı.

B)	Yıllarca sıkı hazırlık yapan NASA, Mars’taki 
yaşam izlerini bulmak için yeni bir keşif misyonu 
başlattı.

C)	Mars’ta yaşam izlerini araştırmak yeni bir keşif 
misyonu başlatan NASA, bunun için uzun süre 
sıkı hazırlık yaptı.

D)	Yıllar süren sıkı hazırlıktan sonra, NASA 
Mars’taki yaşam izlerini bulmak için bir keşif 
misyonu başlatacağını duyurdu.

E)	NASA’nın yıllar süren sıkı hazırlıktan sonra, 
Mars’taki yaşam izlerini bulmak için bir keşif 
misyonu yapacağı bilinmektedir.

4.	 Intercity trains will switch to electric engines to 
offer faster and more environmentally friendly 
transportation options.
A)	Şehirlerarası trenlerin daha hızlı ve çevre dostu 

ulaşım seçenekleri sunmasının bir yolu elektrikli 
motorlara geçiş yapmalarıdır.

B)	Şehirlerarası trenler daha hızlı ve çevre dostu 
ulaşım seçenekleri sunmak için elektrikli 
motorlara geçiş yapacak.

C)	Elektrikli motorlara geçecek olan şehirlerarası 
trenler daha hızlı ve çevre dostu ulaşım 
seçenekleri sunacak.

D)	Şehirlerarası trenler, elektrikli motorlara geçiş 
yaparak daha hızlı ve çevre dostu ulaşım 
seçenekleri sunacak.

E)	Daha hızlı ve çevre dostu ulaşım seçenekleri 
sunan trenler de elektrikli motorlara geçiş 
yapacak.
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Reading Comprehension

1. - 3. soruları aşağıdaki parçaya göre 
cevaplayınız.

Many scholars have argued that syntax is the 
defining feature of human language. Syntactic 
rules allow humans to communicate about an 
infinite number of things with a finite number 
of symbols. Having a set of rules that can be 
applied in predictable but open-ended ways to a 
set of symbols, such as words, enables humans 
to create sentences that they have never heard 
before. No other species has been found to use 
syntax as humans do, but evidence of syntax-like 
structural rules has been found in several animal 
communication systems. The songs produced by 
many bird species have “rules” that predict which 
sounds can be combined into motifs and which 
motifs can follow one another. The same is true for 
whales and the call sequences of some primates. 
When perception of song sequences is tested by 
playing back recordings to birds, most species 
recognize when components are presented in 
orders that break the rules; there is little evidence, 
however, that rules about component order 
encode differences in meaning. Some argue that 
the “syntactic” patterns in bird and whale songs 
are better described as phonological rules (or 
phonological syntax rather than lexical syntax), 
since they apply to sound combinations but not, as 
far as we can tell, to changes in meaning.

1.	 It is pointed out in the passage that a limited 
number of symbols ----.
A)	cannot prevent humans from generating a 

number of new things

B)	is what humans have struggled most in terms of 
communication

C)	stopped people from innovating new words and 
sentences in the past

D)	is an indispensable part of communication for 
both humans and animals

E)	has to be eliminated if we want to communicate 
with each other without any difficulties

2.	 According to the passage, which of the 
following is true about human and animal 
languages?
A)	Both of the languages have the same features in 

terms of syntactic rules.

B)	Trying to make differences in meaning has been 
proven to be the same for both species.

C)	Humans try to imitate animal language so as to 
communicate with each other.

D)	Birds are the only species with a syntax system 
similar to humans.

E)	Though human language is unique, a handful of 
animals have syntax-like rules.

3.	 Which of the following describes the main 
purpose of this passage?
A)	To highlight the importance of rules animals 

have been using.

B)	To describe what syntax-like structures are.

C)	To explain what sound combinations can be 
used to communicate.

D)	To show the differences in human languages 
within different contexts.

E)	To explain the syntax in human language and to 
compare it with other species.

infinite (adj.)	 : boundless, unlimited – sınırsız
combine (v.)	 : unite, integrate – birleştirmek
motif (n.)	 : theme, concept – dizayn, tema
sequence (n.)	 : range, series - dizi
component (n.)	 : constituent, ingredient – bileşen
present (v.)	 : offer, submit – sunmak
encode (v.)	 : encipher, codify - şifrelemek
pattern (n.)	 : model, version - model
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Dialogue Completion

1. ‒ 16. sorularda, karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz.

1.	 Interviewer:
‒	 ----

Doctor:
‒	 Genetic predisposition plays a role, but 

evenly important are environmental factors 
such as diet, exercise, and exposure to 
toxins.

Interviewer:
‒	 What are some prevalent changes people can 

expect as they age, both in terms of physical 
health and cognitive function?

Doctor:
‒	 There may be a lessening in muscle mass 

and bone density as well as cognitive 
changes with memory slowing down.

Interviewer:
‒	 Thanks for sharing your expertise on aging 

and its diverse aspects.

A)	Are there any steps humans can take to 
promote healthy aging?

B)	How can society better prepare for the 
challenges caused by an aging population?

C)	Could you explain some of the key factors that 
contribute to the aging process?

D)	Do you think modern people are aging much 
faster than our ancestors?

E)	Are there alternative ways to mitigate the risk of 
age-related diseases like Parkinson’s?

2.	 Noah:
‒	 I really want to step up my fitness game, but 

I’m not sure where to start.

Robert:
‒	 Personal trainers may be great for you. They 

create modified workout plans based on your 
objectives and fitness background.

Noah:
‒	 ----

Robert:
‒	 They can be, but think of it as an investment 

in your health.

A)	That’s what I need. But I am a bit concerned 
about the price. Aren’t personal trainers 
expensive?

B)	They provide the guidance and motivation to 
keep you on track, don’t they?

C)	You’re getting expert guidance to keep from 
injury and make efficient progress.

D)	What do you think I should look for in a trainer?

E)	Some say inheritance matters, too. Do you 
agree with them?

3.	 Harry:
‒	 What do you think about implementing an 

employee reward program?

Amelia:
‒	 That sounds like a great idea. Rewarding our 

employees for their hard work could really 
make a positive impact.

Harry:
‒	 Absolutely. What kind of rewards do you 

think would be fine?

Amelia:
‒	 ----

A)	Recognizing small wins can encourage 
everyone to put in their best effort.

B)	We should have involved the employees in 
designing the rewards they would like.

C)	Even small wins and consistent efforts deserve 
realization.

D)	Well, it depends on what our employees like 
most.

E)	I think this will not only boost morale but also 
build a stronger sense of unity in the group.
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1. - 16. sorularda, boş bırakılan yere, 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz.

1.	 We live in the Age of Mammals, which began 
more than 60 million years ago. During this 
period, mammals have spread over the entire 
earth and can now be found in almost every 
kind of climate and habitat. They live where it 
is wet, dry, hot, cold, or in-between. They can 
be found in the air, in the water, on the ground, 
and underground. ---- That means that they live 
in jungles, deserts, prairies, plains, woodlands 
and mountainous areas.
A)	In addition, there are flying mammals, such as 

bats and flying squirrels.

B)	However, most of the animals belonging to 
mammal’s category are primarily land creatures.

C)	As their diets are diverse, almost any kind of 
organic matter may be eaten by mammals.

D)	Mammals display communication behaviours 
to find mates or to establish dominance over 
others.

E)	Both the marine and terrestrial environments 
can provide suitable conditions for all mammals.

3.	 ----. That’s why, their primary food sources are 
moving to deeper, cooler waters. Scientists 
are concerned that dolphins will have difficulty 
adapting as quickly as necessary to find new 
feeding grounds to sustain their populations. 
Some dolphins that live in areas where rivers 
and oceans meet, known as brackish waters, 
are also losing habitat as ocean levels rise due 
to global warming.
A)	Though climate change has had an effect on all 

habitats, no fatal effect has been recorded on 
marine life.

B)	Dolphins are active predators and eat a wide 
variety of fishes, squids, and crustaceans such 
as shrimps.

C)	Scientists have stated that each year over 
100,000 dolphins and small whales are killed in 
hunts across the globe.

D)	As the sea level rises, marine animals such as 
dolphins can find food more easily.

E)	As climate change causes the seas and 
oceans to warm, dolphins are being seen more 
frequently in colder waters outside their historic 
ranges.

2.	 At a national level, the Amazon is considered 
a source of energy and income, based on 
production and commercialization of raw 
materials. Some of the most valued tree species 
in the world thrive in the rainforest. Mahogany 
is one of the most valuable resources from 
the Amazon forest. ---- A single mahogany tree 
can fetch thousands of U.S. dollars on the 
international market.
A)	The tree’s rich, red grain and durability make it 

one of the most coveted building materials in the 
world.

B)	Through laws, cutting down and exporting this 
tree to other places have been prohibited.

C)	There are estimated to be over 400 indigenous 
tribes, such as the Yanomamo and Kayapo in 
the Amazon Rainforest today.

D)	Though it is unique to Amazon, its market value 
is not very high, which makes it less preferred.

E)	Just like in many other places, trees are 
considered sacred among the tribes living in this 
place.

habitat (n.)	 : domain, home – yetişme ortamı, doğal 
ortam

display (v.)	 : exhibit, present – sergilemek
dominance (n.)	 : control, domination – hakimiyet
fetch (v.)	 : bring, bring in – getirmek
covet (v.)	 : envy, emulate – imrenmek
sacred (adj.)	 : holy, divine - kutsal
rapidly (adv.)	 : swiftly, quickly – hızlıca
sustain (v.)	 : maintain, pursue – sürdürmek
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1. - 18. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam bütünlüğünü 
bozan cümleyi bulunuz.

1.	 (I) Neanderthals are a hominin species that existed 
for at least 200,000 years throughout Europe and 
western Asia and disappeared about 27,000 years 
ago. (II) During this time, they witnessed some 
of the coldest climatic conditions ever known in 
these regions. (III) Many of their physical features 
suggest that they were adapted for the cold, 
such as their barrel-shaped chests, shorter limbs, 
and larger brains, all of which suggest a body 
shape adapted for retaining heat. (IV) Moreover, 
hypotheses on the causes of the extinction of 
Neanderthals include violence, climate change 
and inbreeding depression. (V) There is no doubt 
that Neanderthals were an intelligent species, 
successfully adapting to their environment for over 
200 millennia.
A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

3.	 (I) The Timurids were the final great dynasty to 
emerge from the Central Asian steppe. (II) In 
1370, the eponymous founder, Timur (Tamerlane), 
who belonged to a Turko-Mongol tribe settled in 
Transoxiana, became master of this province and 
established Samarqand as his capital. (III) Within 
thirty-five years, he subjugated all of Central 
Asia, greater Iran, and Iraq, as well as parts of 
southern Russia and the Indian subcontinent. (IV) 
To the west, Timurid forces defeated the Mamluk 
army in Syria and that of the Ottomans in Ankara 
(1400–1402). (V) In architecture, the Timurid 
dynasty patronized the construction of palaces, 
mausoleums, and religious monuments across the 
region.
A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

2.	 (I) During photosynthesis, plants take in carbon 
dioxide (CO2) and water (H2O) from the air and 
soil. (II) Within the plant cell, the water is oxidized, 
meaning it loses electrons, while the carbon dioxide 
is reduced, meaning it gains electrons. (III) Directly 
or indirectly, photosynthesis fills all of our food 
requirements and many of our needs for fibre and 
building materials. (IV) This transforms the water 
into oxygen and the carbon dioxide into glucose. 
(V) The plant then releases the oxygen back 
into the air, and stores energy within the glucose 
molecules.
A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

witness (v.)	 : watch, observe – izlemek, şahit olmak
feature (n.)	 : characteristic, attribute - özellik
violence (n.)	 : brutality, savagery – şiddet, vahşet
release (v.)	 : free, let out – salmak
steppe (n.)	 : grassland, plain – bozkır, step
eponymous (adj.)	 : self-titled, self-named – aynı adı taşıyan
subjugate (v.)	 : defeat, conquer - yenmek
patronize (v.)	 : condescend to, look down on – 

patronluk taslamak, küçük görmek
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1. - 15. sorularda, aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük 
veya ifadeyi bulunuz.

The Age of Enlightenment (1) ---- by the rise of 
new sciences, faith in reason and expanding trade. 
It also (2) ---- the aggressive global expansion of 
European colonialism and the transatlantic slave 
trade. From the late 16th century onwards, Britain 
was one of the main participants in the transatlantic 
slave trade along with other European countries, 
transporting people (3) ---- their will from West 
Africa to work on plantations in the Americas, then 
bringing goods and wealth back to Europe. This 
trade was at its height during the 18th century. 
Millions of Africans were enslaved, many working 
in brutal conditions on hugely profitable sugar 
plantations. (4) ----, the slave trade was abolished 
by Parliament in 1807, and the Slavery Abolition 
Act of 1833 led to the end of slave ownership in 
most British colonies. Abolition was motivated 
by passionately disputed religious and moral 
arguments, but also (5) ---- the declining profitability 
of slave-based labour and the increasing impact 
of slave rebellions, most notably the Haitian 
Revolution of 1791 and the 1831 Jamaica rebellion. 
British slave owners were compensated financially 
for the loss of what was regarded as their 
‘property’.

Godin Tepe is, today, an archaeological site (6) 
---- in the Kangavar valley of Luristan, in western 
central Iran. The name means “hill of Godin” (7) 
---- what the settlement was called originally is 
unknown. The site (8) ---- first in 1961 during an 
archaeological survey conducted by the Museum 
of the University of Pennsylvania and excavation 
of the mound began in 1965. These investigations 
resulted in important findings (9) ---- the next three 
decades (with various interruptions due to conflict 
in the region) catalogued by assorted teams 
from many different countries. A great deal of 
controversy surrounds the excavations done by T. 
Cuyler Young, jr (who was in charge of excavations 
at the site 1965-1973) for his decision to make a 
deep sounding of the hill which allegedly resulted 
in the destruction of part of the Median palace from 
Period II. The artifacts recovered from the site, 
(10) ----, which tell the story of the early nomads 
from beyond the Zagros Mountains who settled in 
Mesopotamia, are extremely important and would 
never have been found without the efforts of Young 
and those like him.

1.	  
A)	will be characterised

B)	had been characterised

C)	has been characterised

D)	is characterised

E)	was characterised

6.	 	
A)	to locate	 B)	to have located

C)	having located	 D)	locating

E)	located

2.	 	
A)	witnessed	 B)	rejected

C)	seized	 D)	decreased

E)	overcame

7.	 	
A)	because	 B)	though

C)	unless	 D)	once

E)	only when

3.	 	
A)	for	 B)	off

C)	against	 D)	about

E)	through

8.	 	
A)	had been discovered

B)	is discovered

C)	will be discovered

D)	was discovered

E)	has been discovered

4.	 	
A)	Briefly	 B)	For instance

C)	However	 D)	In other words

E)	Similarly

9.	 	
A)	off	 B)	about

C)	through	 D)	from

E)	throughout

5.	 	
A)	instead of	 B)	due to

C)	similar to	 D)	except for

E)	despite

10.	 	
A)	therefore	 B)	nevertheless

C)	in short	 D)	in other words

E)	for instance
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